Z I = & = 5= B &
No. 1

Eﬂﬁéﬁg - W B R g = - EEEJr%f&% iiéi i
FEL 1.0 T =x
BET 7.0 T Y
EMRBEABESL 7.0 [ =
HEEYF EHRFAZEELIAY RBENES 2203.7 2200 m2
R&ET T.0 T =x
REEEL 7.0 T =
REFEERE EBEEEEL L 1.0 1 =
Ha@afEk 1.0 1 =
[ EEREE GRL) T.0 T =x
ERE 7.0 T =®
ARELLE XEARE. T 7.0 T =




o = F ;3
HBAEvyh
Bo= XHEEM |z K| F 8| £ &
= K
3.90

NOO + 10.000
7.0 3.90 3.90 27.3

NOO + 17.000
0.0 14.00 - -

NOO + 17.000
IP1 5.7 18.90 16.45 93.8

NOOQ + 22.659
17.3 24.00 21.45 371.1

NOOQ + 40.000
20.0 28.00 26.00 520.0

NOOQ + 60.000
20.0 27.90 27.95 559.0

NOOQ + 80.000
20.0 18.10 23.00 460.0

NO1

10.0 8.20 13.15 131.5

NO1 + 10.000
10.0 0.00 410 41.0

NO1 + 20.000
110.0 2203.7

op

A




